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3-5 Zero and Negative Exponents
Objective: | can apply the Zero Exponent Property and the Negative Exponent Property
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Part 1 intro Zero Exponent Property
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Zero Exponent Property: ]
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Any nonzero base to an exponent of zero

Part 1 Examples
Simplify each expression. Assume all variables # 0.
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Part 2 intro Power of a Quotient
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Negative Exponent Property: \D AROMES 0 _Q(&_Q:H oYy \)\5\*\\ O\

Any nonzero base to a negative exponent
Part 2 Examples numﬁ\( OGCD\( D‘G j— o

Simplify each expression using positive exponents.
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3-5 Notes Objective: | can apply the Zero Exponent Property and the Negative Exponent Property.

Part 3 Example
Classify each expression as greater than 1, equal to 1, or less than 1.
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Less than 1 Equal to 1 Greater than 1
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Sample Homework Problems .
(39 yyou Yave fime)
Simplify this expression, Assume that x is nonzero.
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X exw= : :Type exponential notation with positive exponsnts )

Simplify this expression. Use 9 as the base.
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Reasoning Simplify (-5) ™" Use -5 as the base. Use pencil and paper. |s the resuit the same AN ! (60\)“% '
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Think About the Process To simplify this expression first find tha base of the exponential term

Then simplify the expression. Assume that x is nonzero. 3 )‘(3
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The base of the exponential term is _X 3= a
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